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Note: This question paper contains two parts A and B.
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Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B
consists of 5 Units. Answer any one full question from each unit. Each question carries
10 marks and may have a, b as sub- questlons = . - -
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PART; A

(25 Marks)
List out the input devices. [2]
Differentiate between raster scan system and random scan system. 31

Wrxte a short note QH polygon surfaces;

What is meant by composite transformations?

What are binary-space partitioning trees?

Write a short note on boundary representation of solids.
What is meant by animation?
What is raster an1mat10n‘7

(50 Marks)

Generate all raster points on the line segments, if two end points are given as (10,20)

and (18,30) using the Bresen-ham’s line drawing algorithm for |m|>1 where m is slope

of the Line ?

Wﬂte a boundary-ﬁli procedure to-fill an8-connected. regron
,;:. 1 QR /

Descnbe -about dlreet view storage tubé with neat sketch

What are the steps involved in midpoint circle algorithm? [5+5]
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Explain Sutherland Hodgeman polygon clipping algorithm. Explain the disadvantages
of it and how to rectify this disadvantages? [10]
. OR, U
sforn tlon matrlx fo Ehe followmg' :
a). Translatron Rt | B S §
b) Rotation A

¢) Scaling [10]




6.a) Derive the Basis Matrix for Bezier curve.
b) Discuss the role of parametric functions in curve generation. [5+5]
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“b)

8.a) Explain the procedure followed for back face detection.
b)  Write a short note on z-buffer algorithm. [5+5]
OR
9.a) Describe the classification of VISIbIC surface detectlon method.
- b)e Explam about the geura ----- "y "

“10.a) Explam various klnds of mput deVICes used for computer ammatlon

b) Write a short note on stage action rule of animations. [5+5]
. OR ’
11.a) Discuss the characteristics of key frame animation.

b)« Describe the problem of temporal aliasing. [5+5]
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